[ Efficiency vs vertpos |

= 0.1 , : :
Y SIS N S— S—
I : : :
e proeee e
(8] F . . .
§O0.07F -+ eeeferiereneieens SRS I e
s _F : : E
B 000 i S R
0.0BF- oo ferieeafeeens SRR I TR R
0.04F -+--eefrriveencfenens B e
0.03fF oo f-eieesifoenene ¥
0.02F |- ERRR FP 2. LHTRE S FLE
0.01E oo eieeeforenes RN R B SRR
3 :
S +#f :
T N
o
- E TEEEET E EEREEE
0.951

1072 10 1 10 0?
TP vertr (cr%)

—— DQM_V0001_R000000001__Global_CMSSW_mKit50i4_RECO
FioTend —— DQM_V0001_R000000001_Global _CMSSW_mktt50i5_RECO
Efficiend _, _ pom_v0001_R000000001__Global _CMSSW_mktt50i6_RECO

0.8

N H :
o F :
> 0.7 PR R LR
2] C .
z u :
L>)~- 0.6~ e I P P et
c o :
[} L
(8] T
= 0'5:
5} r
(00 ST EPETE EPEPETPE EPRPRE
0.3 -----erreremr e
025 ---------------------------------
0.1~ ------------------------- 3
o i :
.QL»O:""!"",P s NPT | A
T r i !
o [ :
1:.. -m.:- -4 PISIpUINIROIVIGY Uy U0 DR 4
0.050 ] i i ] i
=30 -20 -10 0 10 20 30

TP vert z (cm)

~ 0.02

=
TTT T T T T
i
T

P08 6 420 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


